نموذج إجابة الامتحان :

(1) (أ) 0.0 لو (2س –3) = 1 =لو 10

0’0 2س- 3 = 10 ---)    س = 13/2

(ب) 0.0 لو 68,72 = لو ( 6,872 x 10)

0’0  لو 68,72 = لو 6,872 +لو 10

                   = 0,7961+1 = 1,7961

-------------------------------------------------(2)  

(I) 0.0 س = لو 3

                            5

0’0 س لو3/لو5 = 0,68

                 3

(ب)0.0 س =6

0’0 3لو س = لو6 ---) لوس = لو6/3

0’0 س = 1,82

-------------------------------------------------(3)

0.0 لوأ +ن لو ب = 7 

                     ن                         ن

0’0 لوأ + لوب=7  ---) لوأ ب= 7

           س        ن                  س           ن

0.0  10= أب  ---) لو10 = لو أب     = 7

                           0’0 س =7 

(4)                16

              (لو 128)            

         ر=1                       2                                                               

                  16          7       

                             

 =            (لو  2) 

                ر=1      2

               16

=        7 

            ر=1

=     16x   7 =112

(5)      5

    (م – 2ر )  = -15 

ر=1

    5م –2  x   5 x  6   /  2  =-15

5م –30 =-15

5م = 15     ----)   م= 3

(6)

0.0 ج = ن/2 (  2أ  + (ن –1 ) ء )       ، أ = 2    ، ء = 7-2 = 5

       ن

245 = ن /2 ( 4+5ن –5 ) 

490 = ن( 5ن – 1 )

     2

5 ن – ن – 490 = 0

( 5ن + 49 ) ( ن – 10 ) = 0

0’0 ن = 10 

(7) 

أ =1/64        ،   هـ     =  1/32 ÷   1/64 = 2   ،  ج = 128 

                                                                ن

                   ن - 1

0.0ج  = أ  هـ

      ن

                  ن- 1

128 = 1/64 (2 )

7        6      ن –1                     13       ن –1 

2 ×  2 = 2                 --->    2   = 2

0’0   ن- 1 = 13                  --- >    ن = 14 

                     ن

0.0  ج  = أ ( هـ   - 1 )  /   هـ   -1

                10                 

ج  = 1/64 ( 2 –1 )/ 2-1 

    =  1/64 (1024 – 1 ) 

    = 1023/ 64

( 8)                          2

0.0   أ + أ  هـ   + أ هـ    =  35

                            2

0’0 أ (1+ هـ  + هـ   )  = 35

                                      2

0.0  أ      ، أ  هـ     ،    أ هـ   - 5             متتابعة حسابية  

                              2

0’0 أ هـ   =  أ + أ  هـ     -5 / 2

                       2

2أ هـ    = أ + أ هـ  - 5

     2

أ  هـ    -  2أ هـ   +أ  = 5 

      2

أ ( هـ    - 2 هـ      +1 ) = 5                                                                       بقسمة المعادلة ( 1 ) على المعادلة ( 2 ) ينتج أن :  

               2       2

  1+ هـ +هـ / هـ – 2هـ +1 =7 

     2                                2

7هـ –14هـ +7 = 1+هـ +هـ

     2                                         2

6هـ- 15 هـ +6 = 0   ---)     2هـ –5هـ +2 =0

   ( 2هـ – 1 )( هـ –2 ) = 0 ----)  هـ =1/2   ،  هـ =2

                                                 أ = 20  ،  أ  = 5 

الأعداد هي 20 ، 10 ، 5              أو الأعداد هي 5 ، 10 ، 20 

انتهت نماذج الإجابة 
